
𝒃  𝒊𝒔  𝒕𝒉𝒆  𝒊𝒏𝒊𝒕𝒊𝒂𝒍  𝒗𝒂𝒍𝒖𝒆	
  
(𝐼𝑡  𝑚𝑎𝑦  𝑎𝑙𝑠𝑜  𝑏𝑒  𝑟𝑒𝑓𝑒𝑟𝑟𝑒𝑑  𝑡𝑜  𝑎𝑠  𝑎  𝑓𝑖𝑥𝑒𝑑  𝑐𝑜𝑠𝑡, 𝑜𝑟  𝑦 − 𝑖𝑛𝑡𝑒𝑟𝑐𝑒𝑝𝑡)	
  

	
  
The	
  initial	
  value	
  is	
  the	
  value	
  of	
  ‘y’	
  (the	
  dependent	
  variable),	
  
when	
  ‘x’	
  (the	
  independent	
  variable	
  is	
  equal	
  to	
  0.	
  

	
  	
  	
  

Equation:	
  𝑦 = 𝑚𝑥	
  

Dependent	
  Variable:	
  A	
  
variable	
  that	
  is	
  affected	
  
by	
  some	
  other	
  variable	
  

Independent	
  Variable:	
  
A	
  variable	
  that	
  affects	
  
the	
  value	
  of	
  another	
  
variable	
  

𝐴  𝑟𝑒𝑙𝑎𝑡𝑖𝑜𝑛𝑠ℎ𝑖𝑝  𝑏𝑒𝑡𝑤𝑒𝑒𝑛  𝑡𝑤𝑜  𝑣𝑎𝑟𝑖𝑎𝑏𝑙𝑒𝑠  𝑖𝑛  𝑤ℎ𝑖𝑐ℎ  𝑜𝑛𝑒  	
  
𝑣𝑎𝑟𝑖𝑎𝑏𝑙𝑒  𝑖𝑠  𝑎  𝑐𝑜𝑛𝑠𝑡𝑎𝑛𝑡  𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑒  𝑜𝑓  𝑡ℎ𝑒  𝑜𝑡ℎ𝑒𝑟	
  

𝒎  𝒊𝒔  𝒕𝒉𝒆  𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕  𝒐𝒇  𝒗𝒂𝒓𝒊𝒂𝒕𝒊𝒐𝒏	
  
(It	
  may	
  also	
  be	
  referred	
  to	
  as	
  a	
  rate	
  of	
  change,	
  variable	
  cost,	
  or	
  slope)	
  

	
  
𝑚 = 𝑟𝑎𝑡𝑒  𝑜𝑓  𝑐ℎ𝑎𝑛𝑔𝑒 =

∆𝑑𝑒𝑝𝑒𝑛𝑑𝑒𝑛𝑡
∆𝑖𝑛𝑑𝑒𝑝𝑒𝑛𝑑𝑒𝑛𝑡

=
∆𝑦
∆𝑥
	
  

	
  

𝑚 = 𝑠𝑙𝑜𝑝𝑒 =
𝑟𝑖𝑠𝑒
𝑟𝑢𝑛 =

𝑦! − 𝑦!
𝑥! − 𝑥!

	
  

The	
  graph	
  of	
  a	
  direct	
  variation	
  is	
  
a	
  straight	
  line	
  that	
  passes	
  
through	
  the	
  origin.	
  This	
  means	
  
that	
  the	
  initial	
  value	
  is	
  0.	
  

Direct	
  Variation	
   Partial	
  Variation	
  

Equation:	
  𝑦 = 𝑚𝑥 + 𝑏	
  

Dependent	
  Variable	
   Independent	
  Variable	
  

𝑚  𝑖𝑠  𝑡ℎ𝑒  𝑐𝑜𝑛𝑠𝑡𝑎𝑛𝑡  𝑜𝑓  𝑣𝑎𝑟𝑖𝑎𝑡𝑖𝑜𝑛	
  
(It	
  may	
  also	
  be	
  referred	
  to	
  as	
  a	
  rate	
  of	
  change,	
  variable	
  cost,	
  or	
  slope)	
  

	
  

𝐴  𝑟𝑒𝑙𝑎𝑡𝑖𝑜𝑛𝑠ℎ𝑖𝑝  𝑏𝑒𝑡𝑤𝑒𝑒𝑛  𝑡𝑤𝑜  𝑣𝑎𝑟𝑖𝑎𝑏𝑙𝑒𝑠  𝑖𝑛  𝑤ℎ𝑖𝑐ℎ  𝑡ℎ𝑒  𝑑𝑒𝑝𝑒𝑛𝑑𝑒𝑛𝑡	
  
𝑣𝑎𝑟𝑖𝑎𝑏𝑙𝑒  𝑖𝑠  𝑡ℎ𝑒  𝑠𝑢𝑚  𝑜𝑓  𝑎  𝑐𝑜𝑛𝑠𝑡𝑎𝑛𝑡  𝑛𝑢𝑚𝑏𝑒𝑟  𝑎𝑛𝑑  𝑎  𝑐𝑜𝑛𝑠𝑡𝑎𝑛𝑡  	
  
𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑒  𝑜𝑓  𝑡ℎ𝑒  𝑖𝑛𝑑𝑒𝑝𝑒𝑛𝑑𝑒𝑛𝑡  𝑣𝑎𝑟𝑖𝑎𝑏𝑙𝑒	
  

The	
  graph	
  of	
  a	
  partial	
  variation	
  is	
  
a	
  straight	
  line	
  that	
  does	
  not	
  pass	
  
through	
  the	
  origin.	
  This	
  means	
  
that	
  the	
  initial	
  value	
  is	
  not	
  0.	
  	
  


